SH64E4H 22
£AH g TEEM [FFERSINAE|HEK) EH (kg)| &EWM) | PE@E) | REWM) ik No.
R6.4.22 [f2L\CA &t %Y = )
R6.4.22 |IZALA #4 [ By 10 @
R6.4.22 |[2ALA &t Y = @
R6.4.22 215 &3t ) = ®
R6.4.22 |f=17DZ FriE Y 1
R6.4.22 |fzI+DZ &5t #Y -
R6.4.22 |[E<ELy A Y = @
R6.422 [Fv_Y &t ) = ®
R6.4.22 |yL ™ A Y = ®
R6.4.22 |& (F) 48 By —X @
R6.4.22 |12 (&) 4[] Y 3 @
R6.4.22 |h¥ &% ) = @
R6.4.22 |+)L1)— FriE Y 10
R6.4.22 |t)L1)— aF #Y -
R6.422 |LAR FriE Y 10
R6.4.22 |LAX &% ) =
R6.4.22 [Ep5Y(R—3—) BofEl ) 507 ©)
R6.4.22 |Zp>5Y(A) E4A #ib 5 ©)
R6.4.22 |Z®>5Y &t #Y = ©)
R6.4.22 |MIFH% &t Y -
R64.22 |f5d L Y = ®
R6.4.22 [Fh B Y 4 ®
R6.4.22 |F=h &% Y = ()
R6422 [E—<> &% ) = @
R6.4.22 |SVRAESEED)  |FEE Y 2
R6.4.22 [SPRAES =1 0] -
R6.422 [[EhL L& B4 Y 10 ®
R6.4.22 [[EhlL\L& &% ) = ®
R6.4.22 |f=FhE 5 5y 10 @
R6.4.22 |f=Fh¥E &% ) = @
R6.4.22 |EL&LSH FhiE Y 0.1
R6.4.22 [EL&LSAH =L 0] -
R6.4.22 |4 LU V=1 B4/ Y 01 ®
R6.4.22 |£LL =T &% Y = ®
R6.4.22 |ZDETIF At #Y -
R6.4.22 |SEL®HL E4A Y 0.1
R6.4.22 |S7ZL&HL a% #Y -
R6.4.22 |5t Y -
R6.4.22 |#a%t Y = mik:RE
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AFN64E4A22H
F£AH R TEEN |FEMSIOAE| HED |28 (kg)| SIEW) E (M) ZiE (M) xE No.
R6.4.22 |1ZLN\CA R ARt 0.2 10 2052 [©)
R6.4.22 FZL\CA FE A%t 7.7 10 1836 1728 1620 @
R6.4.22 |EL\ZA aF LiEEs) 8.6 @
R6.4.22 |IZALA ] AHxt 28 10 3024 2700 2160 @
R6.422 |[ZALA mE Lipo 226 10 3780 3024 2592 @
R6.4.22 |IZALA At AHxt 254 @
R6.4.22 |Z1F5 5 Haxt 0.3 10 4968 3240 3240 ®
R6.4.22 |Z1%5 At AHxt 05 ®
R6.4.22 |tz D FhiE Lizkss 1
R6.4.22 |fzIFDZ At AHxt 0.1
R6.4.22 [[E<ELY R Haxt 9.3 15 2160 1728 1512 @
R6.4.22 |[Z<&LN |t A%t 9.3 @
R6.4.22 |FvA_Y BA5N axt 9.4 10 2700 1944 1836 ®
R6.4.22 |Fr Ry At A%t 26.1 ®
R6.4.22 |RoL R LiEES 04 —% 130 119 97 ®
R6.4.22 |FRILUD BE A%t —R ®
R6.4.22 |FhLY™ Ch LizEsh 1.1 ®
R6.4.22 |R¥F(H) ] A%t 06| —X 184 140 108 @
R64.22 [REF(H) R Lizksy 0.3 5 2700 1944 1296 @
R6.4.22 [R¥F(H) ] AExE 0.3 3 1404 1296 1080 )
R6.4.22 |h¥ Ch LizEsh 2.7 @
R6.4.22 [t)LY— FE Bt 04 10 3564 3564 3240
R6.4.22 |&JL!)— Ch LizEsh 0.4
R6.4.22 [LAX R AHxt 3.6 10 5940 2808 2268 ®
R6.4.22 |[L&R £ Haxt 8.3 10 2700 2484 1944 ®
R6.4.22 [LAZR |t A%t 125
R6.4.22 |Ep35Y(X—3—) il Haxt 01| 50K 2700 2160 1188 ©)
R6.4.22 |Zw>5Y(H) R AHxt 43 5 2484 2484 2268 [©)
R6.4.22 [Zp>Y(Q) £ b 1.3 5 2376 2052 1620 ©)
R6.4.22 |Zp5Y At A8%t 58 ©)
R64.22 [MMELw N-Z Haxt 3.1 10 2160 1944 1620
R6.4.22 | DM FH% At At 3.1
R6.4.22 |79 (§@) B0 LiEES 5 ®
R6.422 |49 (K) N A%t 33 4 1944 1944 1728
R6.4.22 |59 Ch AA%t 4.1 ®
R6.4.22 |kk ] At 0.6 4 1728 1728 864 [©)
R6.4.22 |kTh X Haxt 42 4 1350 1350 1080 (D)
R6.422 |k At At 48 [©)
R6.4.22 |E—<> R Haxt 12[ 015 130 119 @
R6.4.22 [E—<> At At 22 ()
R6.4.22 [SVRAESEES) |[##E LiEES 0.1 2 2700 2484 1944
R6.4.22 |SV®ZAESHE) BRES At 1
R64.22 |SPOZAES At AA%t 0.1
R6.4.22 [[FhL L& JtiEE At 0.4 10 2160 ®
R6.4.22 [[Fhl L& il Haxt 2.1 10 3240 2160 2160 ®
R6.4.22 [IFhi L& ERE A%t 58 10 3672 1944 1620 ®
R6.4.22 |IEhLrL& At AExt 8.4 ®
R6422 |f-Fh¥ dtimE Lipo 39.2 20 2808 2484 2160 ()
R6.4.22 |f=FHRE FRE fizbol 0.8 10 1080 1080 864 ®
R6.4.22 |f=FhRE At A%t 44.1 ®
R6.4.22 |FEL&LSA LGlE] A%t 0.2 0.1 130 130 124
R6.4.22 |EL&SH At ARt 02
R6.4.22 [£ELLV=IF idc] A%t 04 0.1 173 130 108 ®
R6.4.22 |£LLM=IT At ARt 0.4 ®
R6.4.22 |ZDEFT ¥ A%t 0.9 0.2 76 76 54
R6.4.22 |ZDELIF At A%t 09
R6.4.22 |3 LHL R A%t 0.5 0.1 76 73 43
R6.4.22 |SL&HL FhiE ik 0.4 0.1 83 76
R6.422 |S%L&HL At A%t 0.9
R6.4.22 |5t A%t 161.7
R6.4.22 |#a&t kst 161.7 i RE
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F£AR S TEEN |FEMSOEE|HEK) BE ke)| SEM) | HiEME) | RiEFE) ok No.
R6.4.22 |HEAMA (I ILEYL) |E4E Y 10 @
R64.22 [HEHMA &% Y = @
R6.422 VAT AaF i) = ®
R6.422 LT (FLIE-R) FafE Y 0.28 ®
R6.422 (LWET(ELUE) EH Y 0.28 ®
R6.4.22 [L\ET &% Y = ®
R6.4.22 (A0 (F—ILR) % By 8 @
R6.4.22 [*Oy &% Y = ®
R64.22 [FL v &% Y = ®
R6.4.22 |5t Y -

R6.4.22 |#a&t #Y = iR RE
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F E & B Kk % M & #® HF =
ASTN6FE4H 22 B

£AA % FTEEH |FENMSIOAZ| #2028 ke)| SEW) i {E (M) RIE(M) &% No.
R6.4.22 |HEAMA KLY ILIYL) |88 LizES] -l 10 @
R6.4.22 |[HEHHMA &% GEEs) = @
R6.4.22 |YAT (Vata—Ik) 3 Hxt - 10 @
R6.4.22 [YAZ (B2 5L) B Haxt 3.3 10 5,940 5,400 3,240 @
R6.4.22 |YAZ (E#) & LS - 10 @
R6.4.22 VAT a5 LS 33 @
R6.4.22 [T (FIIEF-R) FE waxt 06| 028 389 389 346 ©)
R6.422 |(WET (ELUE) FhRE LS 03[ 028 410 378 ®
R6.4.22 |L\6T =1 axt 1.0 ®
R6.4.22 |AOY (F7—ILR) FE Haxt 0.2 8 17,280 17,280 15,120 @
R64.22 |AOY (FYTR) REAR waxt - 5 @
R6.4.22 | A0 A% axt 0.2 @
R6.4.22 |FULVM(NIR) HER Haxt 15 ®
R6.4.22 |3 L\H &it Aaxt 0.7 ®
R6.4.22 |&t HExt 52

R6.4.22 |#a&t At 5.2 min:RE
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